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t = d + 35;
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int d;
int t;
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float £f;
f = 3.14;

UoboooooboooboboD fobbD eayDDODOODOODOO
ood

goboobooodn

goboobooobooboobooobooobooooooooboobo
gbobouoobobooboobobobooboboboooboon
gboboobobobobobooboboobboboobobooobn
goboobooooobooobboboobooobooboooboboo
gboooboooboboboboobuoobooobbooboooboooobooo
gbooboobobobooboobobooobobooooobon
gooobooogoboboboboboboboooooooobobobo
gbobobobobobobobobooooooooooobooobooon

gboboboooooboboboboboboboboboboooon
gboboobobuobbobobouobooboboboboobob
gbooboboobooboboobooboooboobn



gboooobuooboobuoobobboboooboboobobaon
gboboooboooboboobbobobuoobobobobooobon
gbogbooobooobooboobboonoboobooo 40000
o0 10o000o00boobooooogbobo4000000s500000
gbooboooboobooobbooboobbooboobbooo

ooooboobfdbooboobobobobooboboooDoon
gbooomoobobobobobobob doboboobobooob

t = d + 35;
if (t < 40)

{ t =t + 10; }
else

{t=1t +5; 1}
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int i;

1 = 1x2x3%4+5%x6+x7x8%x9%10;
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int i; int r = 0;
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int r; int i;

r = 0;

i =1;

while (i <= 10) {
r=r + i;
i=1+1;
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r + 1i;
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float x;
float res;
float delta;
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0.000001;

res
delta
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while (x < 1.0) {
res = res + X*X;
X = x + delta;

}
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#include <stdio.h>

main () {
float x;
float res;
float delta;

x = 0.0,



res = 0.

0;
delta 0.000001;

while (x < 1.0) {
res = res + X*X;
x = x + delta;

}
printf ("$f\n", x);

}
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printf ("$f\n", x);
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#include <stdio.h>
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sin(3.141592/6);
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d = sin(3.141592/6);
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int h;
h = func (2, 3);
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